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740

®elT 11 di URIE, 2019—20
[7410-C]
MATHEMATICS
&g I

(Hindi & English Versions)

[Total No. of Questions: 26]
[Time: 03 Hours]

(1) it gor afarf &

G) T FE 1 W 5 aw qeghTT geT 8

() T FHE 6 W 26 TH ARG [Avey [ 77 &

@) SEEgEaTaN [y §9gy ]
Instructions :-
(1) All questions are compulsory.
(2) Question no. 1 to 5 are objective type.
(3) Question no. 6 to 26 has internal options.

(4) Draw diagram if necessary.
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1w e g ik - (sx1=s)
i) afk A={1,2,3,4,5),B={3,4,56),T@ ANB &I 4 &I —
@ {1,2,3,4,5,6) b) {3,4,5)
© ¢ d) {3,4)

Gi) AR x+2,y-2)=@G, 1), @ x iR y & 7 forfag -

@ x=2,y=3 b) x=3,y=2

© x=3,y=4 d) x=1,y=3
(i) |5 @7 719 BRI —

(@) 720 (b) 620

€ 120 d) 24

(v) (x+y)> @ FOR ¥ G ga1 B e g —
(@) n (b) 2n+1
(¢) n-1 (d n+2

(v) 1+iV3 &1 AMIG BT —

(a) 1 (b) 2
) 3 d 4
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Choose the correct option -
(i) IfA={1,2,3,4,5},B={3,4,5,6},then the value of AN B will be -
(@ {1,2,3,4, S,Gi (b) {3,4,5}
() ¢ (d {3,4)
(i) If(x+2,y-2)=(3, 1), then value of x and y will be -
(a) x=2,y=3 (b) x=3,y=2
(c) x=3,y=4 d x=1y=3
tiii) The value of |5 is- http://www.mpboardonline.com
(@ 720 ‘(b) 620
(¢) 120 (d) 24
(iv) Total number of terms in the expansion of (x + 2y)*" will be -
(a) n (b) 2n+1
(©) n-1 ©(d) n+2

(v) Modulus of 1 +iV/3 is -
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(@) 1 (b) 2
© 3 d 4
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2 TE oSl I8y —
™ e e g
. T
(i) tan2x | (@ —= X & A9
(i) T A (b) tan?®x
(iii) cosx =3 () ==
(iv) sec®x - | (d) nn+(+1ﬁg
(v) sinx= % (e) 2nm+ -E

() 1+tan?x

(5X1=8)

T
(g) nm=* <
Match the columns -
Column “A” | Column “B”
(1) tan2x (a) -ig-a X Degree measure
(i) Radian measure (b) tan®x
I ' 2tanx
(111) cosx= 5 (c) -
(iv) sec’x - | (d) nmn+(— 1)“%
. I T
(v) sinx=- (¢) 2nmt >
(f) 1 +tan’x
(®) nmt>
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Y3 U ¥/ H TR ARG —
() I8 wqead o mal @1 w9 A 8, 3 $Ed 87
(i) TP B (x)=2x + 5 gRI1 uRif¥a &, @ £(-3) &1 79 fafay |
(iil) 30x < 180 ® x &T A9 FT BN1I?
(iv) B — "I=13 ARG P TSI 87, &1 Ao forfg |
(v) e R 95 XY ad 4 2, a1 591z — <z g
Give answer in one word/sentence -
(1)  Write the name of Set in which the number of elements are finite,
(ii) A function is defined by f(x) = 2x + 5, then write the value of f(-3).
(111) What is the value of x in 30x < 180?
(iv) Write negation of the statement- “Chennai is the capital of Tamil Nadu”
(v) If a point lies in the XY — plane, then its z — coordinate will be?
Y4 G /39 fofey —
() 3k & o A 99 sagq &, o9 SO SUGGAl DI AT 8
gl | -
(i) z=a+ib & GFH Z=a+ib =rm|
(iii) ax?+bx +c >0 Y@ FqHDT ¢ |

(v) L @7 W 24
15

(v) (a+b) BT IR a'+ °Cia" 'b+"Cra" ? b’+...+"Cr 2 " b'+...+ b" 81T
Write the True/False -

(i) If number of elements in a set are three, then number of subsets of that
set are 8.

(i) The conjugate of z=a+ibisZ=a+ib.

(iii) ax?+ bx + ¢ > 0 s linear inequality.

(iv) The value of :“1_— is 24.

(v) The expansion of (a+b)"is a"+"Cya" ' b+"Cza" 2 b*+...4 "Cea " b+...+ b".

(5%1=5)

(5X1=5)
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Ry o fwedt # 9 W& fwey gres Ra it o gfd difo -

U5 (5%1=5)
() a,=2n+5%az=....... -. - | ~(11/6)
i) 2o 2, 4, 6..F7 5 df UG ............. BT | (12/10)
(iii) WRae y? =- 4ax B A SGT B TS oo BN (287 4a)
(iv) @ gt P(xi, yi, 1) T Qxz, y2, ) & A1 B [ BT GA
PQ=.....ooiviiiiiiinns [(J(xz - %)%+ (3’2 - yl)z + (z, - zl)z)/
(J(Xz + x )2 + (Yz + }’1)2 + (2, + 21)2)]
(v) IR B we AR wlwa = 8 @ wen A T B wiw
= 2 9
=] gl (ﬁ / ﬁ)
£ o . o
é Fill in the blanks using correct alternative -
E (i) a,=2n+5,thenaz=....... . (11/ 6)
§" (ii) Fifth term of series 2, 4, 6, ... iS.......cocveeveeerrernn. | (12/ 10)
§- (iii) The length of latus rectum of the parabola y*> = -4ax will ‘be
B (2a/ 4a)
= (iv) The formula of distance between two points P(xi, yi, z1) and
S \2
= Q(x2, y2, 22) is PQ = ........ [(J(xz—xl)2+ (yv,-y,) + Gz - zj)z)/
(J(xz + %)%+ (}'Z + Yl)z + (2, + 31)2)1
(v) If % is the probability of an event, then the probability of the event.
‘not-A’ will be........ (2 72)
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e A=1{1,2,3,4,56)auT B={2,4,6,8),d9 A-B3R B-A =

HIFTT |

If A={1,2,3,4,5,6) and B = (2,4, 6, 8}, then find A — B.and B - A.

Jgdar / OR
T W o R il |
Write the definition of ‘Power Set’.
fawgail (1, 3, 3) @1 (2, 4, 5) B 9 A T 77 AT
Find the distance between the points (1, 3, 3) anld (2, 4, 5).
i /OR

fdg P(-2,3,5),Q(1,2,3) 3R R (7,0, -1) ®¥g & guisy|

Show that points P (-2, 3, 5), Q (1, 2, 3) and R (7, 0, -1) are co-linear.

2

lim ’;—7“ &1 A1 S BT |
X — -2

x2-4

Find the value lim .
x—0 x-2

g¥ar/OR
X=5 W 2x— | & JqBeA o7 BT |
Find the derivative of 2x>~1 at x = 5.
fAeforiad st wom @ uee sy filRay —
& 3 ATy 3R fwm 2

Find the component statement of the following compound statement

Number 3 is Prime and Odd,

@)
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3dar /OR

(@) fa=ft s & < Rl @ darar wwe g

@) V7 v uRAy G

Write the negation of the following statements —

(A) Both the diagonals of a rectangle have the same length.

(B) V7 is a rational number.

v10 fy=feRaa sifwsl @ forw wrg & wer Wy fages sma IR — 2)
3,7, 11, 10, 6, 4, 1
Find mean deviation about the mean for the following data —
3,7, 11, 10, 6, 4, 1
- dgar/OR
‘gl w1 URTY T 27 IKTER0T 41T |
What is the ‘Range of Data’? Give an example.
y11 Rig Aiw - (3)
tan G"' x) _ (I + 1an x)2
tan Gx) B 1 - tanx
Prove that —
tan (45 + x) _ (.L_i tan _,;)2
tan G x) B I- lﬁnx
3ar/ OR
Rig @Ry —
sin (x+y) _ tanx +tany
sin (x-y)  tanx-tany
Prove that -
N_ll(hl- ) an x -+ tan y
sin (x-y) Ty -Lany
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912 fr=ifelRad @ a+ib ® 9 # yRafda #iforg — (3)

U.13

Y.14

5+ V2 i
- V2 i

Convert into a + ib form -

5+42 i
1- V2 i

341 / OR
& T s GvE BT " s Sifew —

1+ 2
1-3i

Find Modulus of the given complex number —

1+ 2i
- 3

e "Co = "Cq, T "Cyq STA BT | (3)
Fmd nclﬁ y if an. = “Cé.

dar /OR
‘BHOPAL’ ¥1&€ & 3Rl # ¥ U@ &) qeud: dael (& IR IUANT B
feber srelyet a1 arfde v 991 waa €7

How many words with or without meaning can be formed using all the letters

of the word ‘BHOPAL’ using each letter exactly once?
(2x2 - 3y)* BT TR HTT | (3)
Expand- (2x? - 3y)* |
Jar / OR
(3x +y) &1 77 Ug T ST |

Find the middle term in the expansion of (3x + y)®,
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915 afT A=(1,2,3), B=(3,4} 3R C= (4,5, 6), a" Rrg Aifrg — (4)
A'x(BnC)=(A>éB)m(AxC)
IfA=1{1,2,3}, B={3,4) and C = {4, 5, 6}, then prove that —
AX(BNC)=(AxB)N(AxC)
3T/ OR
R f,g: R >R F f(x) = x + 3 ﬁx"-ﬂg(x)=2x+2,ﬂﬁ.‘f+g,f—g,g,fg
S BT |
If f,g:R-}R , f(x) = x + 3 and g(x) = 2x + 2, then find the value of
f+g,f—g,£,fg.
916 \HIBROT v/3x2- V2x +3v3 =0 BT 8T AT | (a)
Solve the equation v3x2- v2x +3v/3 =0,
34T / OR
Y Y g w5y A wRaffs

1-2i

1 +3i ,
Convert the complex numberﬁ- in polar form.
-zl

u17  faiifaa srafremil @ g @I - (4)

3(x- 2)

5

(1) —-15< <0

3x + 11

(i) 7 <2

<11
Solve the following inequalities —

(1)  —15<—--—
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Aar/OR

Ue foatar & ur ot & 12% Ao & 600 ohex B | S ST & 30%
3l a1l g @ fhas ey Iud e ot arfd aRomd fAsor # s
@1 A= 15% @ A0D Wy 18% A HH B |

A manufacturer has 600 litres of a 12% solution of acid. How many litres of
a 30% acid solution must be added to it, so that acid content in the resulting

mixture will be more than 15% but less than 18%?

718 A} @8 2x +y-3=0,5x +ky-3=0 3R 3x;y—2=0i'=|;‘TFﬂ g,k
&1 AF ST IR | | @
If lines 2x + y — 3 =0, 5x + ky — 3 =0 and 3x - y - 2 = 0 are concurrent, then
find the value of k.

Fgar /OR

W dx +Ty-3=0 3R 2x-3y+ | =0 & yfeg g @ @M arell ¥@n
Wﬂ'mmmamaﬁﬁq,mzﬁma&ﬁﬁmemmw%|
Find the equation of line passing through the point of intersection of the lines
4x + 7y — 3 =0 and 2x - 3y +1 = 0 and cutting off intercepts on the axis are
equal.

740 [7410-C] Page 11 of 16

http://www.mpboardonline.com

wod durjuopteoqdur mmar//:dyny



wod durjuopteoqdur mmm//:dny

http://www.mpboardonline.com

¥19 WRaed y’= l@alz‘c'ﬁmﬁa?ﬁ'éw, 31e1 3R e &1 adieer AR AfRed
SitaT @1 TAIE | DIt |
Find the co-ordinates of focus, equation of axis and directrix and length of
latus rectum of parabola y? = 16x.

IJUar/ OR

drefger 36x2 + 4y? = 144 B AT 3R ot & Fdeis, §id ok oy e
P rEISAl AT Sl F1d BT |
Find the coordinates of the foci and vertices, the length of major and minor

axis and eccentricity of the ellipse, 36x? + 4y* = 144,

420 T 7 arqeperdl ST @G |

l+cosx

sin x

Find the derivative of .
l+cosx

@)

@)

3eqqr / OR
lim 2% 1 9 @ ARG
x —»0 sin3x
Find the value of lim H?nsx .
x —0 sindx
740 [7410-C] Page 12 of 16
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.21 Wwaﬁwﬁ?q%mﬁa%wﬁﬁ4wﬁmﬁ%wﬂﬁﬁmw

AT €, WIRdar Fra difore & afsa afify §-

(i) & 7oY 3iR < Afkad 8|

(iiy &9 go9 3R Us wfeern @)

A committee of .four persons is selected from four men and three women.
What is the probability that the committee will have-

(i) Two men and two women.

(i) Three men and one woman.
Jyar/OR
gl A 3R B 39 UBR & P(A) = 042, P(B) = 048 3R
P(A 3R B)=0.16, 79 1 BIfTg—
(i) P(B el
(i) P(A a1 B)
A and B are events such that P(A) = 0.42, P(B) = 0.48 and P(A and B) = 0.16,
then determine-
(1) P (notB)

(1) P(AorB)

740 [7410-C] Page 13 of 16
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150 ARFTAT & Ud Fdeor § 74 AfFT A9 BT 39, 100 AR G BT <4,
36 @fdd Wd AT HAR QI I W THE b 7, 99 Y0 Afkral @ e
S1d PTG, Sl 9 1 99 & T U6E ad & IR 9 daR BI?
In a survey of 150 people, 74 like juice of apple, 100 like juice of orange and
36 people like apple and orange juice, then find how many people like neither
apple juice nor orange juice?
3dYar/OR

AR U=(123,4567),

A={2,3,4},

B={3,4,5,6), 79 1d $IRT —
(i) A (i) B (i) A'NB' (iv) ANB

e g IR ~ (AUB)=A'NB’
If U={1,2,3,4,5,6,7},

A={2,3,4),

B={3,4,5, 6}, then find —
(i A (i) B' (iii) A'NnB" - (iv) ANB

and prove that—- (AUB) =A'NB’
g s -

cos 2x cos E — cos 3x (:0592—x = sin 5x sin%

Prove that —

X 9% . . ox
COS 2X COS i cos 3x cos~2- = sin 5xsin 5

(5)

(65)
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34 / OR
(sin7X +sin5x) + (sin9x +sin 3x
)+ ( ) = tan 6x
(cos 7x +cos5x) + (cos9x +cos 3x)
Prove that —
(sin7x +sin5x) + (sin9x +sin 3x) I
= tan 6x

(cos 7x +cos5x) + (cos9x +cos 3x)

Y24 URIE S QUG WEm n @ g Rig @R B 90— 30 6 § Ref g
gl (nx1) | (5)
For every positive integer n, prove that 9" — 3", is divisible by 6. (n > 1)
JUqr/OR
e ST Rigia @ fig @iy —

124+32 4+ 52 4... & (2n — 1)2 — ﬂ(2n—1; (2n+1)

Prove that by, Mathematical induction —

12432 4 52 4 .o 4 (2n — 1)2 = M@z @niD)

3
Y.25 3[9%H 5, 55, 555, 5555, ... @ n UG BT INT S I | (5)
Find the sum of sequence 5, 55, 555, 5555 ...coveeven.. .. to n terms.
Fgar/ OR

3 3R 243 & i AT TR ARG g1 B |

Find the three Geometric mean between 3 and 243,
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u26 = sifdsl & fog Ara & amer wrey e sma Pifore—

Xi 5 10 15 20 25
fi 7 4 6 3 5

Find the mean deviation about the mean for the following data-

Xi 5 10 15 20 25
fi 7 4 6 3 5
IJgar/OR

friferfaa sifegl & g semor @en Ao Raes g ife-

6, 8, 10, 12, 14, 16, 18, 20, 22, 24
Find the Variance and Standard Deviation of the following data —

6,8, 10, 12, 14, 16, 18, 20, 22, 24
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